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34121100 UrhnnnnruIbn hurn 4100000 4100000 1

ahqnpurlp
3369L275 Fhhonhurr nhnruhutp

qA 67200 1200

33641413 tlhpuurilhururqnh unftunttur t86.7 373400 2000

33651111 Udopuhqhlhtr nhnuruturtnhd 640 358400 560

33611350
Uu\urpplrLurppnr- /'{ruulf}rtr
cl

unlqnr-1u 51.84 51840 1000

33611341 .i.hyru1ihh B1 rurlulnttur L9 28500 1500

33611341 .thururdhtr 86 unlulntlur 15.9 15900 1000

33651118
StSurpfrupunh
/oh$rnnhurounh /

unlulntlur zov 26000 100

3366t127 Uhurrohli unrlurh 50% 2 tir urdrrnrtur 31.5 7875 t5v

24311360 Lururnhnulh plnnhn rhurrahp 25 3750 150

3367tL26 trnmlhhpuhtr nhnurhurp 5U 9000 300

33621330 rrnnnhulihh iL ullurnt-tur 110 33000 300

33600000 .Fhuhruurnt nhnruhurn 3 4500 1500

33691201 gruunl urtunuh nqhranr-nr[ nhnurhurp 140 21000 1Cn

33661128 9urnruniurqhqhh nhnurhurn 15000 0

33571130 1[ilirapn1 unrlurh 29.4 175400 6000

33651149 t huuururhh q2 4hqurhurp 221.2 qq?nnn 2500

33661139 hulnqplrl uniu:nltur 95 665000 7000

33691195 Uqurthutnhh nhnruhurn 40 100000 2500

33691197 Lhnrlhunmlurqhh nhnurhurp z+ 60000 2500

33661139 Zurrnuhnhnnt 4hqruhurp t2 57600 4800

33691194 Snh$rnurqhh nhnurhurp 5.3 63600 12000

33661134 3hltrunnr nhnurhrup 6 92160 15360

33600000 $hburnhurqhulhb nhnurhurr t2 90000 7500

33661137 Lnnurqhuturil nhnurhurp _t5 46800 3600

I
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33661135 Ihurqhqqrl qz 4h4ruhrun 10 36000 360033600000 Udfhurqlrh unrlrrl 75 225000 300033661136 Uhpurqntr f4 unrlurb 71. 149100 2t00
150

33600000 LlnnhurLir nhrrr unrlurL 810 121500
33691196 rFuq rrlr[rr]nU 4hqurhurn 80 480000 600033691196 nhuulhnhanh 1L nhnurh 80 480000 6000
3363 1260

3nalr 5% uqlrprnur3|rh
lnr-bnttp 30il1

q2 upturlt 250 75000 300
33661139 lurlnqhplr4nl 1 ri1 CZ urrfin 98 980000 1000033661139 f,q{tqhptranl 5 rlq 7> 4/h 11,5 425500 37000
33661139 Zurlnqhpfrqnl4h\urhnuln 5

rir
7' uliul 900 90000 100

33691197 Lhmihqpmlurqlrh 25riq 1 rlr v/- unJru 207.27 207270 100033691197 LhnrihrqFnrlurqlrtr 25 rlq VA 4/h 26.04 343728 1320033661135 'Ihruqhrqruri 1 rll C2 unftu 71 q 858000 1200033661136 '{rurqhqurti 10rlq UL hrup 8.5 170000 20000
33691176 rluru+IrnFIlFnBLnPn_

S!'hfrl phhqnrlhurq hu hL
7' rllh 10 200000 20000

33691175 Snhglnuqhpurqlrh 5 rla a) 4/h 5.3 159000 300005bb113 / Lnnurqhuirurl 2 riq q/h 13.8 414000 30000

10000
3691t76 lpqruqftr 100 ilq CZ ll1 38.04 380400

33591176
$1nr-$hhurqlrh ( glnQhhurqfrtrfr
qhllurhnurtn) 1ri1 CZ urriul 900 45000 50

33661161 Cprhqruralrh lOilo 7-, 4/h tb5 84000 50033591176 glrPntrpurrQEun4nl zuq CZ n.h 6.5 195000 30000
33621340

trn$hirtr hutnplrnr_rffr
phtrqnurr.n 200rlq 1ilr

-, uniul 50 150000 3000
33661142 Ur.thurnhq urhfrh 2 Stlq CZ \lh 3 180000 2000033691176 Qp4rlopururifrh l 00rie 7' 4/h 518.95 25947.5 5033691.175 Unttqlrplr4 100ric 7' \[h 150 75000 50033661128 Vurfrpuniurqhq |rh 20 Orf q C2 4/h 10.5 105000 100003369t127 trhbqnprupplunurr 1 00ilq CZ 4/h 19.3 34740 180033611370 Oburdhhh plnnhn 50rlq 1r.fi ul^[ru 20 10000 50033611390 'tlhnhqopuhh 50rlq lrlr CZ uulut 20 10000 50033611350 UullnpplrtrurBBm 50ilq 1 rfr C2 rurftu 30 15000 qnn
33611350 Uu\nppfrhrupprr 50tlq nnrudh 13 6500 50033691175 Uhurunifrqnl 500riq 7> 4/h 5.5 11000 200033691175 p\nlqrffrqnl 500riq 2il1 CZ urilur 5U 15000 500
33621240 3|rurtrn\npurluniirh 0.5ilq 1 rI1 CZ uniut 20 10000 500

33611341

Of ru rlfrh (pfruni]rtrfr
hlrryrnplnpfr4), nfrpn$1unftrh
(nlrpnglurrfirtrfr
trunnplrnr-rfur\rutr $nu$ruur),
qhnhrlopuhh (qlrplraopufrtrlr
hh+Fnplnphd, trfr\nurfrtrunflra

7' uniul 1"27.8 L27800 1000
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33611341

ra[urdfh (pfruil[bfr
tr[urpuru), n]rpn$1ulftrh,
qtrltlrqopuhtr (qlrplraopufrtr]r
hhU"pf"fth4), trfr\mnlrhulflrrl

7t rllh 20 20000 1000

33521230 bnrurraranr- Srlq \JL 4/h 5.7 5700 1000

33691176

cfurdlh (p[uilfb]r
hlqpnplnpfrq), ulfrplraopulrtr
(qhfthAop"hhlr hfrapnplnplrq),
glrurhn\npurlurrlht

CZ uldul 530 105470 199

33691176
bt\*to ( | | I )-hflpopulr4fr
nhpuurnurhurrhh hunlurr hn

C2 uniul 557 55700 L00

33691176
bnlt*folt (lIl) hlrqpopubqh 1r

unr hrfturrnnoh hurilurr hn
CZ 4/h brudhlnt 86.7 260ro 300

33651145 'lhpuulfhraurqntr 4ilq lrir 7' unftu 7000 100

336277LO Urnhtrnrnr 50ilo C2 4/h 3 3000 1000

33671t26 Fnnrihhpuhh Sriq 7-' 4/h 4000 1000

33671136 Qrurntqhh l25ilr 22H) 500 50000 100

33691176 Fhhnuronr 5rlr CZ urftr 40000 800

33621540 rluuuurdhnhh 2dr CZ urr,iur 100 80000 800

33621s10 trruuurnrunhr 50rlq CZ nn] 12 12000 1000

5500rLlt Tlurnurqhuruilnr 500tiq 7> 4/h 6 30000 5000

3369L776
U ghurfrluurfr gfrluppm,

riur qtrhqlrmrlfr hlulpopufr4
150rio

7' +/h 26 52000 2000

33611100 Crlhunurqnr 20rlq VL 4/h I) 45000 3000

33691145
Uurqhhqlrmrifr unr-1$urur
250rlo Srir

7> urilul 33 33000 1000

33691138 fhpuurnnq 40% unfiu 30 15000 500

33691138 'lhpuurnnq 5% C2 rhurrahn 280 140000 500

33691136 l,ururnhntdh prnnn 9rla Srfi C2 rudru 30 30000 1000

33691136
Lruurplrnr-il|r p1npr1 0.9%
500rir

CZ S*fohfo 280 140000 s00

33691t76 'Tlnnlrurrhh Stlq 2rfi CZ rurlut ,n 20000 1000

33651111 Utlopuhqhthtr 500rlq 7'
4/u.r 22 88000 4000

33651150 brnr-bnhuronr 150rio CZ n/h 65000 1000

33591176
U ghurfrluurftrg]r1urppm,
uturnurohrnunlnr . bn$hhh

CZ rIlh 17500 2500

33691176 hnnr-runn$htr 200tiq C2 .n/h 9 22500 2500

33591176
$htrnpurpplnnurl,

\pttmfr"rlhqm{ui1hp}rur-
hurBBnr- 50rir

v1 22trll 650 65000 100

33691176 t hLrhnullhn 2rfr 7, unftu 130 39000 300

33621290 htuhhh$nhh 1.B2riq 1 rtr \JL ulftu 60 3000 qn

33611130 Uurnnr:rhtrh untr$unn 72 uulut 55 2750 50

33691200 Uhtrnqhnhhn A, B 70rlq v/- 4/h 9000 1500

33521s90 bntnnuhrihn 10riq 2dr I./ urdru 420 21000 50

33621590 $mnnuhrfhn 40ila C2 4/h 4 1600 400

33611200 Lnurhnuilhn 2tiq CZ 4/h )n 4080 200
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33691176 Fhuur\n4fr1 10ilq v/- rimlhhhhn 9 4500 50033611170 Ipmnunlhplrtr 40riq 2rir C2 urilul o5 18900 3003361t770 lpnurunlhplrh 40riq C2 4/h 10 10000 1000
33691176 91nrnplnftuqn1 15q CZ punLp 190 1900 1033691176 lppunlghbfrln1 0. 1 rla 25o vL. h/punrp 430 4300 1033691176 Zir4pn\npurhqnh 1Oilo 1Oo C2 DUNLD 230 2300 1033697t76 9pphururqnt 0.5ric 25q 7' punr-p 900 9000 10
33691!76 .D tr rF[EppFu (p utifrlh]pfrtrir

hhqpnprnnhn) 1rfi CZ unlul 110 11000 100
33621100 lhqurplrtr 5ri1 7' unu 1400 21000 15

33621100 4rulurpFo,Fhuqnqu{Fb,

fhtrqhr hhhmnhtrurur v/. DUNLD 500 5000 10
33631300 rrhrnnqpnghh 2rlr 7' rudru 300 18000 60
33691176 u{hlm$hhh 24rlc 5dr 7' urilru 60 6000 100
33691176

Uhurnqpnlnl (rfhurnqpnt"t, T _,
rnrrrprnnurn) 25rlo | "^ q/h 23 4600 200

33631310 fb\p$hhur\ 25rlq 3ilr VL unlut 110 11000 100
33691176 Unr-1$ruilhpopuurqnL

tnplnihpnqplni 4BOrIc C2 4/h 5U 10000 200

33691178
Uopulrgirh

\urpirlurhhprup\rfurh lntbnr-3p
400ilq 250 rir

v/^ t*pht 4740 47400 10

33671113
Uurgrnr-rnunfnl
(uurlpmtnulfnfr unr-1$ruu)
100ribq 200 ntnuuunh

C2
gnqulghF

2h2urnur\urt:
1500 15000 10

33651118 3h$rnpfrurpunh lq 7t unrl 350 72000 200
33631110 Lhuurururfrh 500000UU 7'

4/h 10 3000 300
33691176 'Ih$htrhh+nurilhtr 50rlq 7' 4/h 10 10000 1000
33691176 lf$hrihfupudlrh lOdq 1 ril QL uniul 18 17982 999
33691175 Upurhhrurhh l:100000 rurftu 1600 40000

33561117
rrunmlurfu mnlr nqhpn4ri
200rlq 30il1

7'
22h\ 200 20000 1-00

33631260 3n4|r 5% uqfrpurur;frh

lnqbmlp 30ri1 C2 22b\ 200 63000 5l.5

Ctr+unihbn 4hnnnurrp L1472522.5
f.(I2qul quru uurFpurqnFnlUlrhF, qtrFbh hhp tr qurpru qurhhn

33t4ttt7 -Funfpur! 100q hurn 200 120000 600
33751100 Sullqlrp N16 q2 huru 300 600000 200033t4L142 t hnurplh> Srlq q2 huru J-5 90000 600033t4ttt7 trurilpur! 100q IJL hurr.n 190 95000 500
33141110 Sfrtnn 7.14 huu 84.5 42250 50033L4Lt78 4*4*11*pq lpru\ruqrf C2 huln 50 25000 50033141111 Uqhqurhh N 10 19x72riil 7-t hunn 4.25 2550 600
33t41129 L[ilur\ 7> hurtn t2 12000 1000
33141159 4hntrng lunnhpu M UL huln 14.98 14980 1000
33141159 4!qtr.tg lunnhpu L 7> huln 14.98 14980 1000
33141159 Qhnhng prurhpu S 7' hrutn 14.98 14980 1000
33141159 Qhnhng lunnhpu XL cz hurtn 14.98 14980 100033141142 Lhpurp\|r12rlq VL huur 13.9 150140 10800
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33t4LL42 t hnurnhhr 3rlq CZ hutn 14.49 72450 5000
33141142 !!nqp\h:s.Iq C2 hurtn L4 14000 1000
33141142 Lhnrunhhl 1Oriq 7-t huln )i 20000 1000
3314tt42 Lhnurnhhl20rlq WL hurr.n 33 9900 300
33751100 SruLnhn tlbburhuruurbtrhnh L CZ hunn 286 144430 qnq

3375 1 100 S*l1r1}tn rihburhuruur\hhplr X L 7' hurtn 313 161500 500

33771200 uhp*4hp UL hurur 5t 37000 1000
33141143 U\urnh$hbururnn 7' hurur 4 20000 5000
38411200 thnrlurrunh 7> hunn 260 26000 100
33200000 Ourbbul:lruhh /15X15i C2 urnrrh 270 4590 17
33141100 Q1 qnr-\ mlhurnh uurnhru uL hurur 98 14700 150

33200000
Unurp\ur1ur\ruh urqur\|r N
50 C2 rnm{r 5000 10000 2

33 141130 Uhqlr urhurfrqh f*ttrtr 100 rI1 C2 hrurn 48 48000 1000

33191320 llnrhrh rlhuhur hunn <tl 1500 50

39511130
Uu{uh rifrurhqunl3ur
ogururqnnbrluh 5Bx90

7t huru L87 18700 100

33141111
Ilqttttt durqullhtr \*rnltg
2.5*5 C2 hunn 100 10000 100

C\ruril hp pd2l1 ur\urh u1 urpurqur 1809610
Pld[u\utrhlmphp
24457150 Flnpnd[0 uu ttq 24oO 96000 40
24311300 trlrrlurpu plnp uu hq 3000 60000

Clnunlhtrn 156000
SLurhuurllurh uurllhltqhhh\ It frl*Sph rilr2ngtl F
317t1250 luntlttd*hh bulhnttn UU huru 6000 12000 2
44531160 hrunqudnnht h rl unr-ururL uu huln 4000 4000 -L

44531160 b urnqrurl nnht h u rnrttururh uu huru 3000 3000 1
44531160 b runqunl nnht h ru rnntururL UU huru 6000 6000 1

4451.137t
uuhqtrhpfr
hunlurpurEnr-( n a6op Kn ov e fi )

UU nluln 32000 32000 1

445L1370 \n2ururgnr-gttfthnh
hrurlrupurbnr-( n a6op orBe pAoK)

uu rturln 6000 6000 1

44423600 $nr-rl uu huur 100 1000 10
44423600 $nr-ri uu huur 5JU 3500 10
30192200 Uhurp UU hurur 2300 4500 2
3722t280 bnhurnruqilurh ruln UU hruur 32000 32000 1,

43127190 hnpururilurh hun] ruprubnt uu hurr-n 8000 8000
249L1200 hrfnr-tuhru UU hurrn 5000 10000 2
44192200 Uhtu UU qg 700 700 't
+4531160 ulrnnr-rnuh UU rnnr-rh 3000 6000 1

18811120 fthurhhh hnrhhtrhn uu hurtn 3500 14000 4
3t52].570 I.tuulurhn UU hruu 18000 36000 z
44527170 krqqhp UU htuu 1500 15000 1U

44521170 trnqqhp Lru hurur 4500 27000 6
44521170 trnrlqhp UU huln 5000 20@00 4
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44527170 9nqulhp uu hunn 3000 3000 10
42130000 Qry*ll UU huln 4500 45000 10
42130001 Uf$nh LIU hrur.n 2500 25000 10
44167230 an$ph UU nluul 1000 10000 10
4447Q000 ?ntq. prulnlh rlhturutrhq il uu hrurn 4000 20000 5
44571220 sEp*lt+h UU hurr,n 5660 5660
44511200 uqng UU hunn 2500 5000 2
+45 1 L 190 truclrtr uu huln 5000 5000 1445ttttj .Furh UU hurr.n t700 17000 10
39836000 II4tL uu hunn 800 24000 30
39837000 3urfuunlh1 uu hunn zJvv 25000 l-u
44511.140 €pr-hq UU hruu 3500 7000 2
18141100 Qhnhng UU hunn 350 17500 qn
44511770 qrsl" UU hutn 1500 7500 10
19641000 Snqpur\ ur4plr UU hunn 750 18750 25
18930000 (}*lh ITTT nulln 90 9000 100
4241.52?0 qrullurh uu hurur 15000 30000 2
31681900 4nhl uu huln 42000 42000
31680000 htulf 

"q 
qnnbhp(rnr qurnhur) T}TI

ULA hunn 28000 28000 I

39515400 2hptnrur]upurqnrlp UU il 6000 78000 13

3922t760 fudb1nr hrudrup
0ufuurnburlLud nudul.r0bn

rnYrIJ L-l 5 hutn 7700 3400 2

fudb1nr hrudrup
0tuluum bu{ud pLudruUIbn uu 6 hunn 950 950 L

39221160 fudb1nL hrudrup
firufuur m bu rlur6 pur dru U 0 bn

uu 6 hruur 1500 1"500 1

39711230 pbl[ qurnpruurndu0 uruppbp UU t hutn 2800 2800 1

39227140 pb1[ tlurd unLn6h pudrul.r0bn UU 3 hunn 1050
39227260 rurfrub0bp TTTT 5 hunn 320 1600 5
3922!260 rurJrub0bn UU 6 huln 390 2340 6
39221260 rurfrub0bp LIU 6 hurr.n 380 1900 5
39221260 urrJrub0bp LIU 6 hutn 490 2940 5
39221260 rur.hub0bp uu 3 huln 1050 3150 3
39227!40 pbjh t{Luil unrp6fr prudu!Obp LIU 6 huln 3500 3500 1
39221.720 qq+uup ITTI L hunn 380 380 1
39247100 r1u0url.10bp uu t hutn 120 t20 I
39221380 q4u1[bp UU 6 hurur 2200 2200 7
39777340 purglrl0bp uu t hutn 2250 2250 1
39221390 u.lumunupurlfih;r uu 6 hrurn 2750 5500 t
39241 100 ry{u[0bp uu 6 hunn 3400 3400 1

39221130 pnrdtu![bp uu 10 hurur 575 5750 10
39227260 nrrfrub0bp UU 10 huru 540 5400 10
39221260 urr.hub0bp uu 10 hruur 550 5500 10
39221360 u0[ryh uUnLr,nbn0bn UU t hurr.n z3 /u 2370 1
39221360 u004fr uUnrmbnIbn UU t hunn 2000 2000 L
39837244 Odurn, urtrurhuurLurh 7> hrurn 200 100,000 500
33761000 tdr.qfu qnr-qurpurhfr hruur 90 72,000 800
39831270 qqql0q uu hurur 350 3,500 10
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39831270 uunr00 UU huln 350 3,500 l0
39831272 uulnLOq, udru [ [{ru0utnr uu hunn 500 10.000 20

39837272 uu.tnLOq, uilnr0 I durIr"ur nL uu huln 350 10,500 5U

39831272 uu.tnL[q, tlrltu 0 | rlu0r"ut nL uu hunn 200 10,000 )U
33767400 BnBb u0dbnnohli0bn uu hurur 1870 9,350 5

3922t480 qnLqunufi h lunq uIurU0bn uu hunn 1000 25,000 25

3922151O 11urpuur 1r{nr0u1nL fu nquOtu11 uu huru 8,750 ZJ

33761300 dbnph pnpb unnhr0bn UU hunn 1200 24.000 20

3983 1283 humuUh I r.luqdlu0 r r.rlp uu hunn 420 L2,500 30

3922t420 funquIurUIbn UU hurur 2500 22,500 v

39224330 nnLrrbn UU huru 4000 48,000

39836000 tutlbl, undnnuLu[r UU huln 2600 15,600 6

39831283 huuururlfr 1L[u gdtufi ltuB UU hurtn 500 12,500 25

39839300 qnqupJrurll uu huln 600 15,000

39838000
u{b1 qnqLupfrru!fr hbm,
ulluumdLuub

UU huru 1500 15,000 10

18421130 dbnInq0bn uu hunn 5IU 20,400 40

19540000
qn1htph1b0ulhI
tnnunub0bn, u.lunU

uu hurn 850 34,000 40

398312t2 rqnr0q, rurhu[ | r]rufiurl nL uu huln 600 6,000 10

39831276
qnLqu pu[[bp Jr rltuppdruI
0tnLpbn

uu hutr.n 1700 L0,200 6

39831275
qnrqtupnr0[bpfr durpprIru 0

0rnLpbn
uu hunn 1700 5,100

39831246 hbnnrU tdluqnn dhpnq uu hunn 1500 15,000 10

39831240
duppnrl0;nrpbp
rnnuub0rLutrh

TTTT hurur 1400 7,000 5

39831240 duppnrl 0lnrpbp luqhu0nglt uu huln 1900 9,500 q

3983 1240
iluppnq 0lnLpbp
rnnuub0rtrhh

UU hruur 750 3,750 5

39831240 duppnrl [1 nLpbp fu nhruGng]r ITTT hunn 850 4,250 5

39831210
uulruuph 1t{tugrlu0
nbmbnob0rnIbn

UU hunn 1200 36,000 30

39831210
uquup[t ltlrugdLu0
nbubnob0m0bn

uu huru 1200 24,000 20

39831276
qnLqu pu0[bp]r rftuppiltu0
0tnLpbn

UU hunn 1700 15,300 9

39831280 ururrutrh dupnbr nL ilhono UU hurtn 1200 18.000

39835000
hurnu[4 duppblnL 6n11,

ull ruutn iluub, tiur tr,n tr.u

ITTIUU huru 2000 4,000 1

39221470
ru11 !bfigrur1rulfr0
uunujqlu6bn

uu rlpunl 16600 16,600 f

38311100 hrhnp hhtrurnurLurh uu huru 3s000 35,000 1

383L1101 hrhnp hhhunruLurh UU huln s000 10,000 2

)3121210 O'uql.lLrth0 Unilulnqhshu0bn UU nnur.[ 40000 40,000 L

CLaurihltp urhurhuur\ urh 1,155,950
.{urnh1}rp

I
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)9132200 trhhqhh ntsnr-lrurn qt 370 1,198,800 3240
9134200 'Ihqhrurrhtr rlurnhhp */ 340 680,000 2000
09121000 UhnrJrlurb rhurliruh a.uro trcuz d/tu 200 820,000 4100
Clquilhtp rlrunhthp z,5gg,goouull u uvuulqT cFrIqrF-

302321t0 Luiqhpur3frh urqlry UU 4nuril 55000 1 10,000
30211190 2,uriur\rupqlrl UU nnurd 170000 580,000 4
34331300 Url urnur urhhuur.unfuruhn UU nnrurl 500000 500,000 1

32333300
Urlrnmihphtrurl|r
urhuur&urrhuronhr uu hurur 30000 30000

Ctnunlhhn 1,290,000
dhhuhlmp
44192600 hh41mu 10 riil -nq UU hurur 108 3,024 28
39715100 ururpruqntqht 3 Uil uu hunn 6000 72,000 t2
24957130 uhrhhntr uu hunn 1000 2,000 2
343 1 1 190 nhtnhtrh ilhpurnhn uu lhutn 5000 L0,000 2
44tt1449 dbUnLuhr 0bnnhn0bn uu huln 300 L500 5
4419260A 41mph1 UU tnntrh. 2000 2000 f

39240000 \urpnq prup uu urntrh. 3500 3500 1

lLrrurtthhn 94,024
$phhur\urh $rurntlphhp h qpuruhhlurllurf hh htnr-phn

30192700
ephhur\urh qlnnnr-Sptrhp h
qnuruhbturh urrhh trrmrohn

UU 4Fud 803000 803,000 1

10140000 Z'I U urunp UU hurrn 150000 150,000
22451280 Uhpnqurnilurh urnilu UU hunn 1000 532,000 532
epquhtrSru\ur3frtr h \thguqurlbtr \rrrhnrlp
39130000 Qnuruhhturbruthh hurhnrrp uu hunn 650,000 550,000 1,

39111180
ufann' qpuruhhSur\ur1|rh,
rihururn t ur L urnh urunrl

UU hurur 150000 150,000

35821400 qnn20bn UU hurur 14000 14000 1

Clulurlthbn 814,000
UhL4uilphp h Ahnpptnmri

15111110
Ulru uunlruplr rnhlui\urti
rhurrhnrh \q 2800 4200000 1500

15111110
Ufru urur{urp}r urhrpu\urh
nubnnnur \q 2500 3750000 1.500

15112160 LIhu hrurlh uhnurhurh !q 1230 738000 600
15530000 Iurnurg, uhnmopurrhh hq 3485 2613750 750

15421100
UpliurEurq\fr &hfo,

nur$hhurqrlulb, (quulb)
q1

L 575 862500 1500

158111L0 lurg hpurq4ruh q2 hq 300 7500000 25000
15810000 tuilnphahh -, hq 1900 11400000 6000
t3142100 Uhnn, rLurl,rurh a2 lrq 3480 2088000 600
15842110 9nhghur/rnhnrurn \JL \q 1190 83300 70
15332140 tuhEnn, dhqhh rulhh hq 290 232000 800
75332192 Uurlrrrurnhh hq 490 107800 220
15332410 ?nn rihnq hq 2450 171500 70
03222173 ?unlhr l.tq 1400 42000 30
15321000 Uurunr-nh hrnr-ra 7' 420 420000 1000
15331152 Uhuhn qz hq 1090 654000 600
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03211300 Fplh& qt hc 328 524800 1600
15617000 Snnhhur&rurlurn qZ hq 230 161000 700
15619000 2,urdurnru&unlurn q2 bq 280 308000 1100
15613350 .{urnuurbur&ullurn q2, hq 420 462000 1100
3211900 Uqhururbur&uLhun sz lrq 330 264000 800
15616000 Zhnhru&ullurn q2

bq 445 489500 1100
15331153 Ouut hq o/) 575000 1000
15331154 fltnn, unlnnnqulturL hq 370 407000 1100
15331154 nrh hunnhhullnn sz bq 1095 547500 500
15851200 LlurLrunntrhnhh a4 hq zo6 375200 L400

15612180 [Itnrn hq 220 15400 70

15551600 Uurbmh, hmlh burrohq qz hq 350 770000 2200
15540000 Tlurhhn Annh/ hq 1590 508800 5ZU

15511600 fui.nurqnurb burB '+t hq 840 302400 360
15511200 9urra thurn 318 667800 2100
03 1425 10 lm,01 \urpq hunn 53 397500 7s00
15863200 fdhr +/ lrq 3500 280000 80

r.5831000 Gurpurnun]urq lrq 400 1000000 2500
15872440 tln, hhnurLrnh. ilurhn hq 155 36425 235
03221410 9ur4unlp, ilurppurE sz hq 720 840000 7000
15331154 Qurqurn .+1. Lq 5.+) 2070000 6000
15313000 tturpurn$|r1 q.2 Lq l" r) 1610000 14000
03221722 ]ndhh qZ hq 720 240000 2000
15331168 Urinml: AZ hq 150 120000 800
15331139 Lnrhtr hq 220 209000 950
15331171 Surp4hr1, purqgF *il. bq 120000 800
15331161 Unh, qtmh lrq 280 280000 1000

15331167 9urtrur>h, hurnn q2 hurul 124 66000 550
15331163 6,urhhnhn, runrfuruunutnnr-n bq 1)n 840000 7000

1533tt74 Lhln hq 600 300000 qoo

15333100 Smiulnh rlurbmb \) /- lrq 580 274600 370
15542100 9urBhurlnn =4 bq L240 620000 500

1s510000 flpduuhn, uhnurhurh qt lrc 890 534000 600

15871255 Unurqulb runruhn a] t \q r200 6000 5

15872310 'hurhhhurhnh, )nnurqnurb 11g 1900 5700 3

15131630 Sunlurnh tiuh ururhrubn hc 1350 1620000 1200

15841100 9urLurn rlg 2500 25000 10

15332290 ahil qg 795 516750 650

15890000 9urhurrh rnn nt
bq 2500 25000 10

15890000 Zunfhrlnr-Lp iurlhrh umhhrh YZ qq 1500 10500

15872600 Unnur YZ hq 400 2000 5

15898C00 furlnnht Uq 2200 11000 5

3220000 lJuruntn lrq 700 280000 400

3222100 Uhnq rurhurh llq 7qn 150000 200

3311112 ?ntlt =t bq 2300 345000 150

15332191 trurnhhp $/ hq 640 192000 300

15331490 rftunhhurqrltub rlurnmhq hq 580 69600 r20
3221124 {urpmhq hq 150 45000 300
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15211110
d.\urh qurhurbn, lnr-qJr rih2
rnullruhurb hq 2000 400000 200

Clr4uilhhput:rrlr4 54822325
U2|uurunuhphhp
22821000 Squrqpnr-p1nr-h Ft_L Z. nnurri 800000 800000
228ttlt0 Cbnnr-hurnurhh qhnp uu hunn 1900 90000 50
228111.t0 Ch4mhurprutrh chnp UU hrurn z Lvv 21000 10

45Lt1240
Shuurlugb\bhpb
uqudn0uuuddu0
urtfuuLnur0B0bn

uu +Furd 350000 350000 L

Qturrurlhtru 911000
Ournruprp3nrhhhp
t53111.00 flh\urpurkhhnqhru trcuz nnull 20000000 20000000 I
65211100 Fhurbruh qurq nnrr trL_L 4 nnull 17000000 17000000 1

6421t100 Shpudrub hhnruhnuruLunu r.LL l- nnuril 1650000 1650000 1

65111100
9punlururur\urpurpriurtr h

2purhhnurgrftuh EurnurSntplnr-tr
trcuz rlptuil 9000000 9000000

72410000
hhurhphhururthlt \-uth
urnurilurnnru-rl

trcu2 qpuril 350000 350000 1

72540000
hrurlur\urpq2[r
up4fur\urhuigttruh
burnurlnrTalnr-htrtn

UU nFuril 16000 16000 1

90521320
trd2\ur\urh pulfrnhhhpir
nhrlur$nluntplurh
burnrutnr-tarnlt

Ft_ L /- rlpuril 250000 250000 1I

90921100 'Ihnururlrqurglrnh
burnurtmratmh

.FCUZ rlpuril 850000 850000 .L

50111170
Spurhuqnpurur3frh ilfr2nghtpfr
uiqurhmlurqrnr-p1nih trCUZ rIFunl 270000 270000 1

85121120
trndur2fuurnnqhhplr
pmdqhLnui trQUe rlpuni 300000 300000 I

50111130
Spurtruqnpuuu3frh ilfr2ngbhph
uhfu hf\ur\urh uuluuurp\nr-ri

7t lFuril 1500000 1500000 1

98310000 Lrl*Sph h riurpprlurtr
burnur.lnr-ralmtrhhn

CZ hq 200 3000000 15000

50111170
U{unrlhphtruhhp}r
urhtuqhhnr-rf

trcuz qlrunj 80000 80000 t

92511110 Unluhrlurqnrri trcuz nnuril 500000 500000 1

64235180
Zhnnr-uurururhuurS frtr h
nur4frnhnurp&ur\rfurh
burnurtntptnlL

FCUZ rlpuril 100000 100000 1

9242t100
Ururlntlmrl
hury.nurpurpnr-p1nr-trtrtpfr
hnuruturnurLnui

trcu2 +Furil 96000 96000 I

50800000
trd2\ur\urtr
uurppur{npmdhhp}r
uuluruurnhnrri

trcuz +Fiuil 200000 200000 1
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50800000
apuruhhlur\ur3|rl:
uurppunlnpurtrplr
uruururunLnr-rf

rL- LAZ. 4Fuil 500000 500000 1

51511100
uniprup d.fr2 h urhrlunfrnlun4

uupphplr tnhrlur4prlurh
burnurr mrar nr-trtrhn.

UU rlpurli 35000 35000 t

105 11150
UtfFlr +"lo*4prftutr
burnurrnrarnrh

rr_ LAl. +puril 880000 880000 1

)8341740 'IIurhtrnp4ur\urh
burnurtnlrarnr-h

qz rlpuni 2500000 2s00000 t

18371100
Znqurp\unlnpnr-p1urh
burnurrnlrarmh

trcuz rllurd 200000 200000 1

7921tt00 2ur2rlurqruhur\urh
burnurlnllalnr-bhhn

uu rlpuid 600000 500000

7941t2t0
ehnuttrhplr hhtn \urqr{urb
funphp4unmlur\urh
burnrutmlatnr-trhhn

UU rlpuril 600000 600000 1

t0131100
Ilqlmpurrlrnluurqprftul-r
burnurlnlratmtrhhn

UU rlpruil 960000 960000 1

;3521200
trhnLhpfr rfnluur4prlurh
burnrutnlratmbhhn

uu rlpurli 70000 70000 1

90400000
9n;mqnr- hhur \urultlurb
burnurrnmrnrhhhn

uu 4P1ud 313000 313000

7163L720
u{urmihphlnutrhp}r
uhluhlr\ur\urh uurnr-qrfurh
brunurrmnrnthhhn

UU llrurd 80000 80000 1

7963t200

UZluumutlhg0bnh
{bpuqumpuumtfuu0
dunurnLBrnr00bn

uu +prurI 660000 550000

72700000
2uliur\urpq2url|rh gurhglr
burnulnlrarntlihhn UU +Fu1il 237000 237000 1

t4110000 Onumullr0 6unulnrplnL[[bp uu 4Furli 420000 420000 7

50311250

qluudbItl hu 0n 11 utu pp bp fr
quhqu0dur0
0unwtnLptnL00bn

uu huru 4000 160000 40

792112tO
htu2r[uquhu[.;urI
tlbpruhu!nqnLp1u0
dunui rnLernL06bn

uu 4Futu L4400 L4400 1

36111200 nu0lttu th0 6unu rnr-Brnl[0bn uu 4TruU 12000 12000 I

71,247200
hurluurqbhplr qunnpuruuntrf,
buluutplr qtluhulnntrl

riu nnrrrr I
'll_*- 600000 600000 1

18391160
0bp!ur1u g nLgltu 1.1 ur 0,

uptupnqu!unqur1h0
6tunu tnrptnr[0bn

uu 4Ftud 700000 700000

73432100
qnllph qhurhruuniurh
burnurrntarnrhhhn

LIU qpuril 140000 140000 L

50731100

uurn0ufiu0ullr0 uruppbplr

{bpu0npnqdu0 tr

tquhqu0dur0
dunutnrptnL0[bn

LIU riFuni 400000 400000 I
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50721100
gbnnrgdur0 hurlurUunqbnh
rlupnnlf

uu 4p*,i 260000 260000 1

79531100
qnuiqnn prupqdu0ntPltu0
dunurnr.prnl00bn

uu tt 7000 196000 z6

rlu 4Lrqd 500000 500000 L

hnur{tlpurfiru!ut0
6unurnrerniG0bn

uu 4Irrud 900000 900000

Ch4unittrp brunurlntplnthlrhp 57,O99,4O0

Ctt4tudbltg. L46,424,632
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